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Whether this is necessary or not,
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storage rooms 7.5 kN/m?2.

Meteorological loads should be applied using the Slovenian natftional annex of the EUROCODES.

The typical span between columns is 14.5 m.
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Function determines the applied live load.

They can be piped together with the light system in service spaces which provides air

visually homogeneous library spaces cannot be disturbed by the mechanical systems thus they

columns are positioned co-axial in each level to transfer the vertical loads to the supports effectively. Deep
he

The load bearing structure should be designed according to the loads and requirements specified by the

After works with movement of huge soil masses the archeological excavation site provides optimal condtions

to utilize the geothermal energy. The necessary huge surface piping has to be placed at the horizontal plane

BRB braces. The building floor plan is not optimal in terms of earthquake resistance. To counter this,
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